@ SHREE VASISHTHA VIDHYALAYA

Maths Worksheet 2025-26

Worksheet No: - PA1-01

Conceptual understanding

Q-1 Tick the correct answer.

1) 624 + =970

a) 169 b) 346 c) 364 d) 162
2) The next number in the sequence is 185, 165, 145

a) 155 b) 105 c) 125 d) 115
3) The missing number in the given pattern is?

7, 14, 21, 28, , 42

a) 31 b) 21 c) 62 d) 35
4) Sara had 60 balloons, 27 flew away. How many does she have now?

a) 33 b) 43 c) 37 d) 32
5) What comes next in this pattern of letters?

A, B, C, A B C, A ?

a) C b) B c) A d)D

Q-2 Fill in the blanks.

1) 65-2 Tens =

2) Predecessor of number 359 =

3) The answer we get after subtraction is called the

4) A pattern is a arrangement of items or a set of items.

5) 359 - 458 =

Q-3 Complete the given pattern.
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Q-4 Subtract the following.

1) HT O 2) HT O 3) HT O 4) HT O
3 8 7 9 7 8 4 8 8 6 5 4
- 2 4 1 - 4 3 5 - 3 9 9 - 3 7 8
Skill based
Q-1 Begin at the top by subtracting 2 numbers that are connected with arrows.
959 574 358 210 118
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1) There were 110 roses in the garden. 75 roses are white and rest red. How many roses are
red?

2) A Shop had 144 water bottles. 36 were left. How many were sold?

3) Kartik scored 458 marks and Shivam scored 473 marks. Who scored more and by how
much?



